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All questions are compulsory.
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The question paper consists of 31 questions divided into four sections A, B, C and D. Section-
A comprises of 4 questions of 1 mark each; Section-B comprises of & questions of 2 marks each;
Section-C comprises of 10 questions of 3 marks each and Section-D comprises of 11 questions
of 4 marks cach.
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There is no overall choice in this question paper
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Use of calculator is not permitted.
HUE-3 / SECTION - A
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Question numbers 1 to 4 carry 1 mark each.
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Which is the greatest among /2 : Hn and ¥3 7

2
Wﬂr}=1.3+2'f2+ﬁx+13%1 5 l ﬁmﬁmmaﬂmm 7 \-ﬂ':{hl
2
Find the value of the remainder of the polynomial fix) ="+ 2 +8x+ 1, when it is divided by
poh
2
3 ERE] aﬂ'l%ﬁrﬂ’|[al+l:r+c+c|+s3+1f-+-g+h-1-1'+J1']|=?

In the figure the measureof{a+b+c+cl+e+f+g+h+i+j} =7

4 fa P, y- o787 Wy - 71 9§ 6 TR AW 1 - 3w B A o B p 3 Brdvim wmEa )

P is a point on yaxis at a distance of 6 units from raxis is lying below
x-axis. What will be the co-ordinates of P ?

B|UE-9 / SECTION - B

TS WEAT 5 | 10 W Uik WA 2 37 HIE
Question numbers 5 to 10 carry 2 marks each.

I
afe s, = 0.064, % A "-}-‘a;rmﬁ:ﬁﬁ'ﬁfrql
L
'
b
If z = 0.064, then find the value of[l 2

6 qﬁ[_s_]‘_'_ [1_]] . {l]s = ;x;ﬁ,fﬁrmm‘
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In the given figu e if AB||DE, £BAC=40° and ZCDE=32". Find £DCE.
i
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How many planes can be made to pass through

(a) three collinear points
(b) three non-collinear points

uw g Wl x5 @ WifaE g0 4 7HE A -918 § Fifae g 5 5eE ¢l 39 fag & fewe fafay 2
s e feam & -
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(i) 1 iy F (iv) IV ugaia g

The perpendicular distance of a point from the x-axis is 4 units and the perpendicular distance
from the y-axis is 5 units. Write the co-ordinates of such a point if it lies in :

{i) 1 quadrant (ii) I quadrant
(iify Il gquadrant {iv) IV guadrant
T T T 9T 300 om T91 0 512 13 % 9w H @, 91 9 el 37 A 2

The perimeter of a triangle is 300 ¢cm and its sides are in the ratio 5: 12 : 13. Find its area.
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@|Tg-¥/ SECTION - C
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Question numbers 11 to 20 carry 3 marks each.

J5.6 1 T Ta w it sifeg
Represent geometrically V5.6 on the number line.

afz 3a—1= gafgb+2= g4 & Tt 2 wW T HiTTC
b

¥3@—1=9and 4b+2= 64, find the value of =.
b

TUFEE FIWT a3 (b—c)P+b? (c—ap +c? (a—b)?

Factorise : a® (b—¢)*+ b (c—aP + (a—b)?

UGS FITAT : 6561 a®— 256 b,
Factorise : 6561 a® — 256 b®.

ﬁaﬁmﬁamﬁﬁﬁammTWﬁmm;mtmm%

Prove that two lines which are respectively perpendicular to two other parallel lines are
parallel to each other.

fer g fm § ACQDE 3R AD|ICE ¥ xﬁﬂymﬁmmﬁmw%%
/BAC =70P3iR/DEC=55" %1

/ et
}

Y 557

B C \E d
In the given figure, AC|[DE and ADJ|CE find x and y, when it is given that ZBAC=70" and
ZDEC=55".
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17 faz & GM 3v 1L = #AGH T41/GHD % H9ig9™ 579 77 ¥ fF GM||HL 1 =afgn f& 3

ABJCD %1
PR B eb
M
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C H D

In given figure, GM and HL are bisectors of #AGH and #GHD respectively, such that
GM|HL. Show that AB||CD,

|  Prove that each angle of an equilateral triangle measures 60°.

19 u}qwﬁﬁﬂﬁr % m%wwﬁgﬁm feem 7, A S e H e S afg g smei? - 3

Find the percentage increase in the area of a triangle if its each side is doubled.

20 10 e ®ael =i f9es 1 & U o 3900 7971 9ee s 1 99 20 om, 50 cm 9150 3
cm 21 T T % forg fRad %92 Wt snmvgsa anih
(/o =245 wifom)

An umbrella is made by stitching 10 triangular pieces of cloth, each piece measuring 20 cm, 50
cm and 50 cm. Find the cloth required for the umbrella.

(Take /s =2.45)

W|UE-T/ SECTION - D
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TET WEAT 21 § 31 Tk Ueideh UYT 4 316 &I
Question numbers 21 to 31 carry 4 marks each.
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Two classmates Salma and Anil simplified two different expressions during the revision hour

3

NN
and Anil explains simplifications of 28+ o8+ 127 . Write both the simplifications. What
value does it
depict 7

and explained to each other their simplifications. Salma explains simplification of

Firef i e R SR S iy a
2 % y'rH- \lllﬁ__ \JI'_ 'q'r -..'Ir'l':l 5 1,!'!_: ke

: 1 2 1 o 1 P 1 = i
Provethat.3 B k- %k hoE % -2

TGS FHT : (p+a)° — 20 (p+q)—125 -1

Factorise ; [p + q}l:: — 20 [p+0g)—125

far ameafas favmm fr, fog ST % 2 —3x+ 2 B 268 — 60 + 3@ + 3w — 2 ol fawr B
Without actually dividing, prove that 2x* — 6x® + 3x% 4+ 3x — 7 is exactly divisible by x> —3x+ 2.

(:2-0%) * (p2-e) = (2ma?)

{a=b)* +1b‘c]| w el

TIE HIfaT

B T
i b ~ ib c C a
Simplify ° }I i :I [ J

(a—b) + !:"r:]?t"'l{-:_a~3 —
{a—b) +{ ) @D \
%’*%
1 T e
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Factorise 29:3 -- xyz - ya

27 Tem wiiae i o weigag e = avee genel % wepm s e o E 4

Prove that the angles opposite to equal sides of a triangle are equal.

28 AABC ® yoisil BC, CA 3R BA %1 H99: D, Q 3R P % =@y 79| 7% fam 4 4
£ACD=100" 3R £QAP =353, T frye & wuft Fw 37 Hifer |

B G D
Sides BC, CA and BA of a AABC are produced to D, Q and P respectively. In the given figure

if ZACD=100°and Z#QAP =35°, find all angle of the triangle,

29 ABCD TF ¥gi« ¢t foes fawv AC ¥ BD WER O W =g &3 #1 @wkw fw 4

AB+BC+CD+DA > AC+BD %1
ABCD is a quadrilateral in which diagonals AC and BD intersect at (0. Show that
AB+BC+CD+DA = AC+BD.

30 afe Tk f3Ys ABC & ¥i¥era AD, BE a7 CF 59H & &l fog %10 fs AABC w% wweg fm &1 4
If the altitudes AD, BE and CF of a AABC are equal, prove that ABC is an equilateral triangle.

31 Ale AD, AABC HI Wifta=h @) 7 fig F19T AB+ AC > 2AD. 4
If AD is a median of AABC. Prove that AB+AC > 2AD.
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